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PART A: Grammar and Vocabulary
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the correct
choice on your answer sheet.

& R ULL G yuyo
19 axivo B \D dxiuo

61- As a teenager, I ... look at myself in the mirror whenever I wanted to go out with my friends.
1) was needing to have careful 2) needed to have carefully
3) needed to have a careful 4) was needing to have a carefully

62-There is no doubt that Russia’s human rights record is not ... the United States, but it has improved,
even allowing freedom of emigration.
1) as good as that of 2) as well as that of
3) the best of 4) better than

63-In his book, he explains how he and others helped organize conferences in which the members ...
discussed solutions.

1) and themselves 2) themselves
3) they themselves 4) who they
64-Mr. Thomson agreed to give the final exam two days later, so we had some ... time to study better.
1) extra 2) proper 3) strange 4) continuous
65-To be honest, I really felt a moral ... to tell my parents the truth about what had happened yesterday.
1) stress 2) obligation
3) emotion 4) entertainment

66-1 am very worried about my friend, Alex. I think he must have some ... problems, which have
influenced the way he behaves recently.
1) familiar 2) domestic
3) foreign 4) generous

67-In 1966, the World Cup was stolen during a public showing of the trophy in England. ..., it was found
a short time later in a trash container by a little dog named Pickles.
1) Largely 2) Fortunately
3) Patiently 4) Hopefully

68- Agatha Christie was one of the most successful writers in the history, and lots of her works were
widely read, copied, ... and translated.
1) published 2) developed
3) defended 4) attracted

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct choice on your
answer sheet.

It seems unthinkable today not to provide children with a decent education. There is such ...(69)... academic
achievement these days that it’s easy to forget what a big problem illiteracy used to be. Being unable to read
can be intensely embarrassing and can make someone feel like a ...(70)... failure. Someone who can’t read is
often understandably afraid of certain ...(71)... . The problem can seem unsolvable. However, if people have
a good teacher and spend a reasonable amount of time on practicing, they can easily learn how to read and
write. It is a matter of fact that being able to read can lead to an improved ...(72)... of life.
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69- 1) a strongly emphasis at 2) strongly emphasis on

3) strong emphasis at 4) a strong emphasis on
70- 1) rapid 2) special 3) complete 4) probable
71- 1) destinations 2) situations 3) inventions 4) suggestions
72- 1) possibility 2) quality 3) action 4) schedule

PART C: Reading Comprehension

Directions: Read the following passages and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice on your

answer sheet.

PASSEGE 1:

Many laws which have been passed in the various states of the United States over the years are now out of
date and plain ludicrous. For example, the laws in one state make it illegal for men to go without their guns.
Obviously, this law is broken daily. While it was once considered of utmost importance that a man be armed
and ready for action, it is hardly necessary for a man to carry guns to work today. However, a man without
a gun is also technically breaking the law.

On the other hand, another law makes it illegal to fasten one’s horse to the fence surrounding the Capitol
building. It is hard to imagine anyone riding a horse into the city and leaving it tied outside of the Capitol
building today. One would have to go to great lengths in order to break this law.

These outdated laws remain on the record because the time needed for state lawmakers to debate the
issues and make changes in the existing laws would keep the members from attending to more important
current and relevant issues. It would also be hard to make people pay for the cost of removing or updating

these laws. Consequently, it is likely that these laws will remain on the books.

73- What does the passage mainly discuss?
1) How men in some American states break laws every day
2) The reason why it is necessary for American men to carry a gun to work
3) The difficulty of breaking some laws in some cities of the United States
4) The fact that some laws, which were once important in America, are of no value now

74-The word “current” in paragraph 3 is closest in meaning to ... .
1) changing 2) recent
3) near 4) safe

75- What does the pronoun “it” in paragraph 1 refer to?
1) to carry guns to work 2) action
3) work 4) gun

76- Which of the following is NOT a reason for not updating old laws in the United States?
1) Discussing existing laws will take lawmakers’ time.
2) There are other more important issues that need to be taken care of.
3) A record of these laws should remain in the books for future reference.
4) Updating these laws is expensive and people won’t be willing to pay the cost.



\$ comieo (03 1900 ¢ 3 6o 125 600l 3) W3 3159 (0 908 1Fe e e A OgasT

PASSEGE 2:

If you want to make a great, healthy meal, why not start with a soup? The liquid in soup keeps you feeling
full for a long time, and you can add many healthy ingredients—not only to make it delicious but to get your
vitamins and minerals. Another great thing about soup is that you can use what you already have in your
cupboard or refrigerator to make it.

For example, if vou have a quart of chicken or vegetable broth, add it to a pot of water for the base.

Throw in a few dried herbs, such as dill or bay leaves, as the pot heats up. If you have a small onion and a
clove of garlic, peel and add them, too. Then, check the vegetable drawer in your refrigerator. If you find
celery or carrots, chop up about a cup of each and toss them in. Green beans, cabbage, and zucchini also
work well to add flavor, and you can even use frozen vegetables, such as peas or corn. Next, make your soup
extra hearty and high in fiber by adding brown rice or whole-grain pasta. For protein, throw in cooked
chicken or canned pinto beans.

Finally, bring the mixture to a boil, and then let it simmer for a while so that the vegetables become tender
and the flavors blend together. This usually takes at least 30 minutes. But once it’s ready, you’ll see that this

yummy meal was worth the wait!

77- What does the passage mainly discuss?
1) It explains why soup is healthy.
2) It entertains the reader with a story about soup.
3) It explains how to make a healthy soup.
4) It tries to make readers believe that soup is the best.

78- Which of the following best describes the function of the underlined sentence in paragraph 2?
1) It supports the point made in paragraph 1.
2) It gives an example to compare two different ideas.
3) It adds another reason why soup is a healthy food.
4) It disagrees with the point made in paragraph 1 by giving an example.

79- Which of the following is implied in the passage about the author’s opinion about making soup?
1) A well-stocked kitchen is needed in order to make a healthy soup.
2) People should use only ingredients they are familiar with to make soup.
3) A person who is going to make soup should shop a lot of things before starting.
4) Making soup does not require a lot of planning.

80- Why does the author end the passage with the sentence, “But once it’s ready, you’ll see that this
yummy meal was worth the wait!”?
1) To inspire readers to make a healthy soup
2) To show readers that making soup takes a long time
3) To help readers understand how to make soup
4) To tell readers that soup is easy to make
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